Manufacturing Processes (446.305A)
Final Exam
December 12, 2007
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B. wwo] 250mm*e]iL, 50 MPa¢] stress”} longitudinal 3ko = 71a] A< o, fiberet matrix phaseol
AE)= loadS 727 kA L. o fiberet matrixol]l 7FeiAl= 9] vl&E vS3 gt
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—= , Vi. vol% of glass fiber, v,,: vol% of matrix (polyester resin)
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F=F, +F, = Axo =250mm* x 50MPa = 12,500N
11.5F, +F,_ =12.5F_ =12,500N
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Fiber7} 3% 7] Aol resine] WA 3&F o} = fiber/} ¢ o2 W€}
w2} A resin®] 3% 7] A A fiber® A EHE stresst U2 2Tt

o, =E.g, =69x1.38x107 =949MPa
AA EFARZ ALEH = stresse U3 2

o=V,0, +V o, =0.4x0.949+0.6x0.055 = 413MPa
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Material Removal Rate (MRR)S F 7% T} 20 mm’/min®. & 5%
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Answer:
Given Notation 19 I 29 I Unit
Diamenter D 0.2 0.1 mm
T d & A2 7Ag t 0.02 0.01 mm/tooth
Width Of Cut woc 0.2 0.1 mm
Depth Of Cut doc 0.05 0.05 mm
4 2o e n 4 4 tooth/rev
Material Removal Rate MRR 20 20 mm3/min
Tayler A<~ n 0.33 0.33 -
Tayler Cc 18000 18000 -
T 7H C_tool 15000 5000 won
T 9 e de W._m 500 500 won/min
T oA Al el AR Tc 5 5 min
A 7hE Aol L 1000 1000 mm
Answers Notation 19 I 29 I Unit
Feed rate \Y 2000 4000 mm/min
g4 &= N 25000 100000 rev/min
Cutting speed \% 15708 31416 mm/min
T T8 T 1.50 0.19 min
7FE Alzk TM 0.5 0.25 min
T YR HEE ' FFEY S N_p 3.01 0.75
7}E & CM 250 125 won
T WA HE 2 T oHE CR 5815 9969 won
Z H& C_T 6065 10094 won
B. ¥ £ & MRRS A9lsta vh& x3o] sdsttta 7H4slS wf, 18 75 AREE Aol HA
o] ugg WA 7= "l L% (cutting speed) V [mm/min]E FétaAt dth C, = AV + Bl
\Y
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B=3926990.81701 .
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